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Geometry CC Name:
7.1-7.4 Review Date: Period:
Section 7.1-7.2 D -i-’q £
1.In /] CDEF, DE =74 mm, DG = 31 mm, and mZFCD = 42°, “ .
a) FindCF—» DE =(F—>\34y—=CE |
b) Find MZEFC —> L L+ £ F =10 ] F
UL+ LF = 1R0
¢) Find DF ZF =3 |
DF: D(‘] + &F B
DF= 21 + 31 =[LZ |
2.In L_JKLMN, LM =28 in., LN = 26 in., and mZLKN = 74°. fiekkhs-
a) FindkN—s LM =¥ N —> |2 =WwN \
b) Find MsNML — < LN = 2NN
24° = oL
¢) FindLO
Lo=LN _slo=2¢ _SliTc =13
2 2-
3. WXYZis a parallelogram. ba + 10
ba+io=Be=" gy 19y
a) Findvz —>8(=+) —H : ( )
; L& - Z_0~—
‘ \‘% ‘57— = = O (9b+2)o
b) Find m«£Z i
g3 8a—4 Y
() +2 =! Ls° | 1Blo-1\ - = - .
pi = > 2 :;'.k‘:’/ = [ S
4. EFGH is a parallelogram. 0="%
=iz 2N ’
a) JG ‘=-LL{5+Q> - q?_c‘_z—_q_ . 9 s
= S
'_‘1 - ’2? £ < H
b) FH ys="2
) = e LN
FT+JlRn =F 4\ Bw;mwc:
S T
A+ =FH ws =Y
1 = F &
- =R Statement Reason
GHJIN and JKLM are parallelograms. 1. GHIN and JKLM are .
owwen

Hand M are collinear. (on the same
line)
N and K are collinear. (on the same line)
Prove: /ZH=/M
H K

parallelograms.

2. ZH and ZHJN are supp.

ConSecwve LS

£M and ZMUK are supp. S——pP.
3. ZHIN = ZMIK Yevhice-\ LS
4. LH= /M = Supp. Thm.

Options for Proof:

Vertical Angles Theorem, Given, Consecutive Angles
Supplementary, Supplementary Angles Congruence Theorem




Geometry CC Name:
7.1-7.4 Review Date: Period:

Section 7.3-7.4

6. A woodworker constructs a rectangular, picture frame so that JK = 50 cm and JL = 86 cm. Find HM.
K dl cs-a,o NS a o Qomarwm‘\"

JL = wan
Db = WA

RM =M  _ouw _
%= = “|43

7. TVWX is a rhombus. 5. 3b+4 ((Sa —T5)

a) FindTV = = -°\

B |

(14a + 20)°=90

b} Find maVTZ = L XT3 w 13b—39-'-l°\ 4 Yo =30
=3¢ &=
LT = 5CS ) -5 _m I+ =123~ 7
if‘ -0 —= .3=b
8. Show that the diagonals of square EFGH are congruent perpendicular bisectors of each other.
2 ity
C1-0Y (-t ={ 50 =5J2 A-1381
SANIN
a / ) 1 ik IX
; i 7 ARy ey
Ilt-aeli-a) ={Ba =5VZ «=4 /63,0
E(‘—4, 1), =4 /
.
H(0, —4)
Slope of FH = — = .
4 = - = < t\
Slope of EG = | /5 I(X. X2) +—(~5 3

Midpointof FH= (=149 3 4(-y) . T
2 ) : =\=z) 2 »

2
Midpoint of EG =
—4+3 140 v -\_>
= * o J=lE Il =




